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s Character {

public final static int  MAX_ANIME = 5; //
static int count = 0; //
public static void incCount() { count++; } //
public static void decCount() { count--; } //
public static int getCount() { return count; } //
double posX; //
double posY; //
int animeNo = 0; //
//

public Character() {
this(0.0, 0.0);
}

//

public Character(double x, double y) {
incCount(); //
posX = X;
posY =y;

}

//
protected void finalize() {
decCount(); //

//

public void move(double addX, double addY) {
posX += addX;
posY += addY;

}

//

public void animetion() {
animeNo++;
i fF(MAX_ANIME <= animeNo)

animeNo = 0;
}
//

public double getX() { return posX; } //
public double getY() { return posY; } //

MAX_ANIME count

)

decCount, getCount

Character.getCount(); //
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